
What percent of the second number is the first number?

480 out of 1200 1508 out of 2900 918 out of 3400 1078 out of 1400

133 out of 1900 244 out of 6100 1482 out of 3900 2808 out of 7800

2211 out of 3300 6510 out of 7000 240 out of 2000 136 out of 800

3762 out of 9900 495 out of 900 3192 out of 3800 425 out of 2500

6016 out of 9400 720 out of 800 2257 out of 3700 8428 out of 8600

595 out of 700 658 out of 9400 3344 out of 7600 3577 out of 7300

7695 out of 9500 3630 out of 5500 3471 out of 8900 48 out of 1600

6408 out of 7200 5293 out of 6700 3612 out of 4200 1785 out of 2100

406 out of 2900 5785 out of 6500 2596 out of 5900 3404 out of 9200

8316 out of 8400 540 out of 2700 3520 out of 8000 6764 out of 7600
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What percent of the second number is the first number?

480 out of 1200 1508 out of 2900 918 out of 3400 1078 out of 1400

= 40% = 52% = 27% = 77%

133 out of 1900 244 out of 6100 1482 out of 3900 2808 out of 7800

= 7% = 4% = 38% = 36%

2211 out of 3300 6510 out of 7000 240 out of 2000 136 out of 800

= 67% = 93% = 12% = 17%

3762 out of 9900 495 out of 900 3192 out of 3800 425 out of 2500

= 38% = 55% = 84% = 17%

6016 out of 9400 720 out of 800 2257 out of 3700 8428 out of 8600

= 64% = 90% = 61% = 98%

595 out of 700 658 out of 9400 3344 out of 7600 3577 out of 7300

= 85% = 7% = 44% = 49%

7695 out of 9500 3630 out of 5500 3471 out of 8900 48 out of 1600

= 81% = 66% = 39% = 3%

6408 out of 7200 5293 out of 6700 3612 out of 4200 1785 out of 2100

= 89% = 79% = 86% = 85%

406 out of 2900 5785 out of 6500 2596 out of 5900 3404 out of 9200

= 14% = 89% = 44% = 37%

8316 out of 8400 540 out of 2700 3520 out of 8000 6764 out of 7600

= 99% = 20% = 44% = 89%
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